PelleHne ypaBHeHUd sint=a.
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[loBTOpeHune

1. Boiuncnurte: arccos(_V-)
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CamocTtosiTenbHas paboTta
1. Bbluncnure:

a) arccoslzg a) arccos( —g)
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2. PelwinTe ypaBHeHuMe:

a) cost= 0,5 a) cost= -0,5

b 3costE="3=0 Qe =5Ccost=0

3. Beluncnure:
a) cos(arccos0,4) a) cos(arccos(-0,4))



PewunTte ypaBHeHMe: sin t= -0,9

sin t= '014
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sint=a
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YpaBHeHue sint = a
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YacTHble cnlydyan ypaBHeHUa sint = a
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NNpMeHun 3HaHUNA

1. PewwuTe ypaBHeHMe:
a) 6sin2x + sinx = 2
6) 2cosx - 3sinx cosx=0
2. Bbluucnure:

a) sin(arcsin(-0,9)
6) cos(arcsin0,6)
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